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Number sequences I7 ? 7I '«; “T‘ :
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o Complete the number lines.
a)
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b)
o Continue the sequences.
L ) 3
I's 2s
I I I
| | | a)zé, 3%, 3%, 3% 22 L Le
A AT HEEEE
27N [ITTT]
G T 1 1] [TTTT]
6 3 1 S
b) 571 57] 51 L.‘% r L_‘?- r 33
0 Complete the number lines.
6 53 8 -1 2
O S Sy S Nl BE o B
V4 5 6 7 ] a
7 7 7 7 7 *
I I I I I I What is the same and what is different about the sequences in
4 5 3 1 .1 | 2 parts b) and ¢)?
7 7 7 7 !

Talk about it with a partner. OI
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o Match each sequence to its rule.

2 1 2
23. 33. 4, 43 add three quarters

1 1 3 .
22. 34. 4, 44 subtract two thirds
1 2 1 .
43. 33. 3, 23 add two thirds

subtract one half

1 33 1l 3
44' 34' 34' 24

o Teddy and Rosie are finding the missing numbers in the sequence.

3! |’ [’ |/ [’ [’ [’ I4

a)

&>

Do you agree with Teddy? _tlo

I think the missing fractions are
sevenths because there are seven
blank number cards.

Explain your answer.

\c\:hm\.\)wcswhmmwd c:rxk:j\)\o./o

Bonk  codns ‘oecomme dF = L

)

b) Complete the sequence.
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534133 1(3

)

I think one of the missing
fractions is equivalent to 3%

1010,

—

Is Rosie correct? __en

Explain how you know.

u . , . .
g W equualonk Yo % so 353 LS eay&\)alwc

\

to 33

d) Which other fractions in the sequence can you find equivalent
fractions for?

[ am thlnklng of a number
sequence. The 1st and 4th terms
are consecutive integers.

Write the rule for Amir's sequence.

Add  one  Ynird

( Accedt sSulkrack one de
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